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For each question from 1 to 30, four options are given, one of them is the correct answer: Make

your choice (1, 2, 3 or 4). Shade the correct oval on the Opfical Answer Sheet.
{60 marks}

1. Study the flow chart betow.

Living things? juomes

Can float in water?

,% Yes

{H i Plastic tray ron ail

(2) Pebble Tyre Fern
(3} Grass Cardboard Fungi
4) Book Rubber duck Algae

(Go on to the next page)



The chart below shows how animals can be classified.

Mammals
|
T |
Lays eggs Give bird
i
iX

Birds }

-y
Cannotﬂy
1Y

Which animais can Xand Y be?"

[} Anfeatér Kingfisher
(2) Platypus Ostrich

{3) Whale Penguin
“@ Monkey Peacock

{Go on to the next page)



Deborah wanted to find out whether water lettuce, would grow well in water containing
detergent.

She used two identical beakers, Beaker A and Beaker B.

The table below shows the items that she had added into one of the beaker.

B

if she were to set up Beaker B as a control, which of the following should she choose to
add into Beaker B?

__Water jettuce
50

25

50

50

{Go on to the next page)



4. The tabile below shows the characteristics of 2 dogs and their young.

dog

A

Short tail Yes : No Yes

Black spots " Yes No No

Four students made the following statemenis about the young:

Ali: The young inherited its father’s long fur.
~*  Bala: The young inherited 1 trait from its mother,
Cai Xing: The young did not inherit its father’s black spots.
David: The young inherited at least 1 trait from both of its parents,

Based on the information given on the table above, who made the correct statement/s?

(1) Ali and Bala only,

{2) Cai Xing and David only

3 Bala, Cai Xing and David only
4) Ali, Bala, Cai Xing and David only

(Go onto the next page)



The graph below shows the length {number of days) at each of the stage in the 4-stage
life cycle of four insects.
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Based on the graph z_xboi{e, Mrs Lee, a Science teacher, asked her students on which
day/s are afl the insects at the same stagein their life cycles, assuming that the eggs of
all the insects were laid on the same day?

The following were her students’ responses.

Kenny: itis on Day 5.
Lina: itisonDay 9.
Molly: Itis on Day 15.

Who gave the correct answer/s?
)] Kenny only

(2) Lina only

(3) Kenny and Lina only

(4)  Lina and Molly only

(Go on to the next page)



6.

The diagram below shows the skeletal system of a horse.

Which part A,-B, C or D is similar fo the ribcage of the human skeletal system?

M A
2 B
@ ¢C
4 D
Study the flow chart below.

Start

Can move by
itself?

Yes

No

Can it fiy?

Yes
) 4
B

Noc

Which of the following describes organism A, B and C correctly?

Moss Bat Lizard
Maggot Mosquito “Besfle
Hibiscus Sparrow Bee

Mushroom Angsana Balsam

{Go on to the next page)
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A study was perfermed on two animals. The characteristics of the two animals were
recorded as shown in the table below. '

JRAA 2 ek G F A
Eggs are laid in water. -

Animal )%Animal %
~~Yes No

Ybung resetnble adult

No

Yes

Fertiisation takes place externally.

Yes

No

What could Animals X and Y be?

(1) g euin
{2) Mosquito. ‘ Buﬁerﬂy
(3) ~ Duek Frog

4) Guppy Mosquito

The table below shows some of the features that the Keith family has.

Mrs Keith brown detached curly short
Annie brown detached straight: long
Benny brown attached straight short

Christine black detached. straight short
David brown detached curly short

One of the four children is adopted. Who is most likely to be the adopted child?

{1) Annie
(2) Benny
(3) Christine
(4) David

{Go on to the next page)
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1.

The diagram shows Neil's family tree.

How many cousins does Neil have?

(1)
(2)
3
(4)

L= S . LT

Study the table of the two groups of animals shown below.

Buffalo' ‘Snake
Elephant - Alligator

Which of the following statements below is not true for the two groups?

)] They help Man to do work.

(2) Their skins are useful to Man.

3 They are grouped according to.their body coverings.
{4) They are grouped according to their body temperature.

(Go ontothe next page)
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The chart below shows how the organs of the human digestive system are classified.

Digestive System
| .
[ !
N L]
jarge intesting small intestine”
gullet stomach
anus mmouth

Based on the chart above, some students made the following guesses on the correct
headings for M.

‘Guna;

Hassan:

Imelda:

Jia Ling:

Whose
Q)]

@
3

“)

Where absorption of digested food takes place.

Where digéstion is completed.

heading/s isfare correct?
Guna only

Jia Ling only

Hassan and imelda only

Jia Ling and Hassan only

Where digestion takes place.

Where ab’éo’rption of water takes place.

(Go on to the next page)
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Kim conducied an experiment to find outif Chemical S is able to kill mosaquito larvae
thriving in water. She prepared the following set-ups as shown in the diagram below.

layer of oil

mosquito
farvae

glass
container

Contalner A Chemical S Contamer B

‘Two days later, she found that ail the mosquito larvae had died: She then concluded that
Chemical S is effective in killing the mosquite larvae in the water.

However, some of Kim's friends commented that her experiment was not carried out
properly and suggested the following ways to correct the setups in her experiment.

- Irene Add three more Cheniical S into Contamei; Bso that both set-ups
are the same to ensure afair test.

Ju Sheng | Addtwo more Chemical$ into Container A sothat the effect of
Chemical S will be stronger.

Karthik Remove all Chemical 8 from Container B so that Container B can
be a control set-up for the experiment.

Lina Remove the layer of oil as it prevents the mosquito larvae from
taking in atrnospheric oxygen, thus, causing them to die.

Whose suggestionls isfare correct?
H Irene only

2) Ju Sheng only

3 Karthik and Lina onty

4  Linaandlene only

~

(Go on to the next page)
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Three months ago, Fatimah bought a leather bag. When she opened the box, she found
a packet of drying agent as shown in the diagram below.

Thinking that she would not need it, she threw the drying agent away.

When she tooR out the leather bag from the dust cover, she realised that there were
some white patches on the bag as shown in the diagram below.

She realised that she should not have thrown the packet of drying agent away.

Fatimah thought of a few reasons to explain why the drying agent was included.

hE ama e e &

The drying agent absorbed the moisture in the air.

The drying agent provided food for bacteria to feed on.

A

B The drying agent prevented mould from growing.
Cc

D

The drying agent gave out pleasant smeli to the surrounding.

* WWhich of the reasons above isfare correct?
(1) Aecnly
(2 - Conly
(3) AandBonly
4) C and D only

(Go on to the next page)
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Joshua placed a lizard into glass bottles, Bottle A and Bottle B. Gas mixture A and gas
mixture B were pumped into Bottle A and Bottle B respectively as shown in the diagram

below.

gas mixture A

lizard

sealed hottle

gas mixture B

lizard

Bottle A .

Botile B

The compositions of gas mixture A and gas mixture B are shown below.

Volurme {em?)
i,

|

oxygen carbon
dioxide

& Gas mixiure A

e

..

Volume (em®)

w Gas mixture B

oxygen carbon
dioxide

Based on the information given, Joshua made the following conclusions:

; Conclusmn

W ' leard in Btt!e A survived ionger as the bottle contamed more
oxygen than carbon dioxide. Oxygen was needed by the lizard
for respiration.

X Lizard in Bottle B survived longer as the bottle contained maore
carbon dioxide than oxygen. Carbon dioxide was needed by the
lizard for photosyr;thesis-

Y Lizard in Bottle A died faster as the bottle contained more
oxygen than carbon dioxide. The oxygen suffocated the lizard.

Which of the conclusionfs above is/are corredt?

()  Wonly
{2} X only
3 Y only

(4) X andY only

End of Booklet A1
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[B0 marks]

Shu Yuan placed Beaker Q which was filled with water at a temperature of 95°C
on one side of a digital balance and Beaker P which was filled with ice cubes on
the other side. At the start of the experiment, both Beaker P and Q were
balanced.

water at 95°C

She then-asked her friends to predict what would happen to the set-up after one
hour. The following predictions were made by her friends:

Rafi:

Tim:

Usha:

Vivien:

Beaker Q would become heavier because the water has more
heat than the ice cubes.

Beaker Q would become lighter because the water in the beaker
evaporated at a faster rate than the water from the meiting ice in
Beaker P.

Beaker P would become heavier because the water vapour in the
surrounding air condensed on the outer surface of the beaker.

Beaker I? would become lighter because most of the ice cubes
had melied and there was very little ice left.

Who gave the correct prediction/s?

(1
2)
&
@)

Vivien only
Rafi only
Tim and Usha only

Vivian and Rafi only

(Go on to the next page}
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17. Susan was given three objects of different materials, A, B and C. She wanted to
find out if these objects float or sink in tap water and salt water. She made the
following observation.

e

£
s."'-—_

S

. ..
" )

salt water

She realised that a personwho practices scuba diving in the swimming pool has
to put weights around his waist to keep his body under water as shown below.

Susan was wondering which material/s, A, B or C, would be most suitable for
making the weights fora scuba diver to dive inthe sea.

Which of the following statements she made is correct?

)

(2)

)

(4)

salt water.

Only Materials Band C would be most suitable because both remained
underwater in tap water.

Only Material C would be most suitable because it remained underwater
in tap water but able to float on salt water.

-

Only Materiat B would be most suitable because it remained underwater
despite being placed in tap or salf water.

(Goonte thgz next page)



18.  Elsie has two bags each containing 20Q30f ice. Each bag of ice is made up of the
200g of water. The two bags are of the same material and size. Bag P contains
one big block of ice while Bag Q contains many small ice cubes.

Which of the following. observations will Elsie make at the end of her experiment
and the correct explanation for it?

)

2

3

&)

rin A T
The ice cubes in Bag Q wﬂ! melt
completely in a shorter period of time
than the big block of ice in Bag P

“The ice cubés have biéger exposed

surface area compared to the big
block of ice.

The big block of ice in Bag P will melt
completely in a shorter period of time
than the ice cubes inBag Q

The big block of ice has bigger
exposed surface area compared to
the ice cubes.

The ice cubes in Bag Q will melt
completely in a shorter period of time
than the big block of ice in Bag P

The temperature of the surrounding
air is higher than the temperature in
the plastic bag.

The big block of ice in Bag P will melt -

compietely in a shorter period of time
than the ice cubes in Bag Q

The temperature of the surrounding
air is higher than the temperature in
the plastic bag.

{Go on to the next page)




19.  Zackdesigned the setup as shown in the diagram below to simulate the water

cycle.
water droplet
aluminium
tray
water -
bubble —
heal source

He wrote down the following possibilities that would happen when the source of
heat is removed from the set-up above.

A The temperature of the water in the beaker would decrease.

B: Water from the beaker would evaporate at a slower rate, thus, the
formation of water droplets would be slower.

C: The temperéturé difference between the water and the surrounding air
would be greater, thus, the formation of water droplets would be faster.

Which of the possibilities above is most likely to be correct?

(1) Aonly

(2) Bonly

(3) AandBonly

(4) CandAonly

(Go on to the next page)
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20.  Cindy and her friends ordered a fried ice-cream as shown in the diagram below.

a fried ice cream

Cindy explained to her friends that the fried ice cream is made by dipping the ice cream
into a flour batter which is mixed with bicarbonate soda. The bicarbonate soda will
produce gas bubbles when itinteracts with hot oil during deep frying as shown in the
diagram below.

ice cream gas bybbles

e
‘hét" otk ¢ 0«?'#. e
RIOSORS

flour batter

The following are some statements made by Cindy and her friends to explain
why the ice-cream did not melt in the hot ol during deep frying.

Cindy: The gas bubbles are poor conductors of heat.

Devi: The gas bubbles slow down the transfer of heat from the hot oil to
the ice cream.

Edmund: The gas bubbles slow down the ice cream from gaining heat from
the hot ail.
Farida: The gas bubbles do not gain heat from the hot oil.

Who made the comect explanation/s?

(1} Cindy only

(2) Devionly

{3} Cindy, Deviand Edmund only
(4)  Devi, Edmund and Farida only

(Go on o the next page)



Amy took some ice cubes from the freezer and put them in a container. She
heated the ice cubes. After a while, the container was left to cool down in a room.
The room tempeérature was %30 She plotted a graph to show the changes inthe
temperature of the content iR %e container over time as shown in the diagram

below.

Temperature (°C)

< Time (min)

At which part of the grapb did the cooling of hot water to room temperature
occur?

() AB
@) BC
{3) CD
(4 DE

(Go onto the next page)
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Three children, Elsie, Fandi and Ganesh were standing at various positions in a
dark room. 5 lamps were hung at Positions A, B, C, D and E on the ceiling above
them as shown in the diagram below. The lamps were turned off.

IR

Elsie Fandi Ganesh

At which positionls:s_hould the lamp be switched on such that:
+ Fandihas {He shortest shadow
» Elsie has a longer shadow than Ganesh

(1)  Position A

{2y  PositionC

{3) Positions A and B

{4) Positions Dand E

{Go onto the next page)



23. . Kok Sing prepared the set up as shown inthe diagram belowto demonstrate the
path of light in 'waler.

bottle cap

clear plastic bofile
fiiled with water

path of light

water spoufing
< out of hole

palm

container

As the botile capwaélléosened, a beam of light was being projected into the
botile of clear water, in line with a small hole at one side of the bottle where the
water was flowing out from.

Kok Sing then placed his palm just above the container where the spout of water
tanded on. He reafised that the beam of light was projected on his paim.

What property of light does the above expetiment show?

0
2
&)
@

Light can be bent.
Light can be reflected in water.
Light can be absorbed in water.

Light travels ina straight line.

(Go onto the next page)
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24, Sumei cammied out an experiment using four different materials, W, X, Y and Z of
equal lengths. She then placed the end of each material into some coloured
water as shown in the diagram below.

Materiasl W MaterialX Material Y  Material Z

pole

tray filled with
coloured water

Five minutes later, she removed the coloured water. Then she measured the
length of each strip of material that was stained by the coloured water as shown

in the diagram b&low.

Material W Material X Material ¥  Material Z

Key:

Q refers to the length -
of material that was
stained by the
coloured water (cm).

The resuis of her measureménts are shown in the table below.

Based on the results above, which material would Sumei use to make a raincoat
and why would she choose this material?

(1
(2)
)
Gy

X It absoarbed the most amount of coloured water.
Y it absorbed the least amount of coloured water.
Z

1t did not absorb any amount of coloured water at all.

{Go on to the next page)



25.

Rani attached a light sen

that passed through Material P ina dark room

11

sor to a datalogger and measured the amount of !iéht
as shown in the diagram below.

datalogger

light sensor

material P

light

She then repeated the activity using Material Q and Material R. She recorded
the readings as shown in the table below.

R
A
passed through (ux )

unt of fight

770

(1} k Trécing ar i é!ear- pitc: .
(2) Clear plastic Trac;ing paper MirTor
3) Mirror Clear plastic Tracing paper
{4} Mirror Tracing paper Clear plastic

(Go on to the next page)
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26.  Maria poured 200 cm’ of water at 95°C into each of the two metal containers; W
and X, as shown in the diagram below.

water level< k

Container W - " Container X

20 minutes later, she realised that the temperature of water in Container W was
higher than that in Container X.

Maria thought of the following reasons to explain why the temperature in
Container W was higher than that in Cantainer X.

A Container W had a smaller area of exposed surface, hence, the rate of
evaporation was slower. Less heat was lost after 20 minutes.

B: Container X hé_d a bigger area of exposed surface, hence, the rate of
evaporation was faster. More heat was lost after 20 minutes.

C: The water level in Container W was greater than the water level in
Container X, hence, more heat wasfound in Container W than in
Container X.

Vhich of the reason/s that Maria thought of above isfare correct?

(1) A only

(2) B only

(3) AandBonly

4) A, BandC

{Go on to the next page)
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27. Hadi carried out an experiment to investigate which tile can absorb the most
heat. 4 tiles of the same size with different surfaces were used in the experiment.
A drop of Chemical Q was placed on each tile before they were heated at a
temperature of 80°C as shownin the diagram below.

tile

Chemical Q% 1

A s ¢ D

Chemical Q is white in colour when placed at room temperature and its colour
would change when there is a change in temperature. The table below shows
how the colour of Chemical Q changes.

Lr

o 3 I of
A Y A I e P Ty
40°C to 50°C orange
51°C to 70°C red
71°C'to 80°C brown

After the files were heated for 10 minutes, Hadi recorded his observations in the
table below.

1)

2)
(3)
(4)

1Q éift;_ar 0 ir)ut_est;

-‘ has a fairly high tepemﬁ?egg‘th end f the exeriment as
a good conductor of heat.
B it has the lowest temperature at the end of the experiment as it is

the poorest conductor of heat.

C it has the fairly low temperature at the end of the experiment as it is
a poor conductor of heat.
D | it has the highest temperature at the end of the experiment as it is

the best conductor of heat.

{Go on to the next page)
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The diagram below shows the front view and the top view of how three mirrors
had been placed on atable. A large cardboard cut-out of the letter 'F was

placed in front of the first mirror.

Front view

1 mirror

cardboard
cuf-out

Top view
/ . o .
1™ mirror 3" mirror

s‘.“‘\ Eal
] ~a Phs '

* T - 1 .
.~ - '
cardboard e . e v

cut-ouf lefter 'F' “S:/ WSumei’s eye
2™ mirror

Sumei learnt in schoo! that when she locked at an object in a mirror, the object

would have its right and left image reversed.

Based on what she had learnt, which of the following shows the correct image of

the letter ‘F as seen in the third mirror?

(1) @ (3)

F 3

| =

“

=

{Go oniothe next page)




29.

The classification table bslow shows different activilies that can be carried outin
order to conserve water. The activities are grouped into different categories.

15

Ways fo conserve water
i ¥
w X Y
+ & N
‘Produce NEWater Fix teaky pipes and Use water from,
from waste water taps washing rice to
water the plants
Remove toxic waste ; -
from water and use Tum off the tap Use water thatis
the water for cooling when shampooing drained out from the
machines in washing machine fo
factories flush the toilet

f’ .
What could the headings for W, X and Y be?

{1}

(2) Reduce Recycle Reuse

3) Recycle Reuse Reduce
| (4} Recycle Reduce Reuse

(éo on to the next page)
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30.  Su lLing filled up four identical rubber containers with different amounts of wate-r
as shown in the set ups below. Each rubber container can hold 100 m/ of water.

l|l

1

1

Setup S SetupT Setup U Setup V

She then placed the containers filled with water into a freezer. After a day, she
recorded her observation in the table below.

[

T / 50 628
U _ . 70 ' 834
v 100 109.3

Based on the information above, Su Ling concluded that the volume of water
increases when water freezes.

If Su Ling were to répeat the above experiment by replacing the 100ml rubber
containers with 100mi glass containers, one of the glass containers would crack.

In which set up wilt the glass container crack?

m s
@ 7T
@G U
@ Vv

End of Booklet A2
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For questions 31 to 37, write your answers in the spaces provided. The number of marks
available is shown in brackets { ] at the end of each question or part question.

[20 marks]

31.

Alice studied the fife cycle of Insect'S. She recorded the number of days for each stage
of its life cycle. Her resuits are shown in the graph below. However, she did not present
the stages of the life cycle in the correct order. -

(@}

(b}

(©)

Number of days
F 3

PENCIETYY RPN

20
18

fa
14

BN s @S R

Based on Alice’s results, how many days does it take for Insect S to become an
adult after the egg has hatched? [1}

Insect S spends certain stages of its life cycle in the water. if InsectSis a
mosquito, identify a stageof its life cycle thatis spentin water. i1l

At which stage of its life cycle is Insect S, a mosquito, most dangerous?Give a
reason for your answer. {1

3

{Go on to the next page)
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322 The diagram below shows a classification chart.

Animal with a hard covering

I Fewer than 3 main” S T ore thar'; 3 rain
3
body parts 3 main body parts body parts
[ L

1 pair of iégs in

- g

T £ pai ) - ’ .Chamc;;:fisﬁcs A 2 pa'i.z:s c)-!".legs»‘in,
| Apairs ofiegs ' each segment | | each segment
" AnimalM | Animal N Animal O | | Animal P
L -} ot M il #
(@)  Whatis a suitable heading for Characteristics A? (3]
iy

(b) Describe the characteristics of Animal O.

The animails shown in the diagram below have hard body coverings.

{c} Based on the classification chart above, identify the animals shown in the

diagram below as AnimalM, N, O or P.
(Write your answers.in the boxes provided below.) 2]

1 ii} -Animal

4-4) -Animal

4
{Go on'to the next page)
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Ah Kow carried out an experiment to find out if the amount of water given to plants would
affect the number of leaves they grew.

He used 4 identical plants, Plant A, B, C and D. Each piant had the same number of
leaves at the startt of the experiment. He varied the amount of water given daily fo each

plant. He recorded the number of leaves each plant had at the end of each week as

shown in the table below.

Number of leaves on the plant at the end of
o ;: each week ;
mount water given to ;
the plantdaily ... %

(=) Based on the information given above, what is the relationship between the
amount of water given to the plants and the number of leaves they grow? I

At the beginning of week 8, Ah Kow made some changes to his experiment. He gave
Plant A and D each 300 ml of water daily. He then focused his aftention in observing
Plant A-and D for two more weeks.

(b) Which plant, A or D, would be able to carry out photosynthesis at a faster rate?
r1

{c) Explain how the plant that you have chosen in (b) was able to camy out
photosynthesis at a faster rate. r11

3

{Go onio the next page)



34.

Study the diagram shown below carefully.

Johnny accidentaily broke the plant Part X while gardening. Three days later, he noticed
that Part X had started to wither.

(a) Give a reason why Part X withered? (1]

I
.‘f‘

Johnny and his friends made the following statements about a certain part of a plant.

Johmy: This part carries food made by leaves to the. rest of the plant.
Kate: This part caries water and mineral salts from the roots to the rest of the
plant.

Leman: This part holds the plant upright and enables them to reach for sunlight
which is needed to make food.

(b) Ildentify the plant part which best fits the descriptions that Johnny and his friends
gave above. it

2

(Go on to the next page)



Study the family tree of Xena.

Gregh grundtafiier Grakomndmother Key

O
t e | Of%.ma]e

Wanda Parker
Diang .
'
Xena
(a) * How manv children do Xena's grandparents have? f1]
(o) What is the relationship between [2]

(i) Xena and Diane?

{ii) Wanda and Parker?

3

{Go on to the next page)
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36. A group of students studied the digestive system of Animal Z over three days. They fed
the animal with Food R, S and T on Days 1,2and 3 respectively as shown in the table
below.

3 Food T 100g

The students checked Animal Z's digestive syStém at specific time intervals each day to
find out how much of the food was left undigested.

The results were plotted in the line graph as shown below,

% of undigested food FoodR
100 vt - Food 5
% v FEood T
\
S \ﬁ ¥ - » Organs of the
Org:m A Drg‘an B Orgtan ¢ OrganD digestive system

Based on the results above, the students made the following conclusions.

Put a tick ( V) ifthe conclusion is correct and a cross { X ) if the conclusion is wrong in
the boxes below. [2

fiiatd i Pl &3

)] None of the organs could digest Food R.

(i) | FoodTwas mostly digested in Organ A.

| (iiy | OrganCisthe most effective at digestion.

(iv) | A high percentage of Food S was digested in Organ G,

2
(Go on to the next page)
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37.  The table below shows the descriptions about Bala-and his family.

» Bala’s patemal grandmother has two children and one of
them is afemale..

| - “Bala’s matemal grandfather has only one child.
« Bala has two brothers-and a sister,

+ Bala has two cousins ahd one of them is a female.

Based on the information given above, complete Bala’s family tree below.

Draw and labei the symbol for Bala, his siblings and his cousins. [3]

Bala's paternal ; Bala's matemal
_ grandmother A grandfather

End of Booklet B1
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For questions 38 to 44, wiite your answers in the spaces provided. The number of marks
available is shown in brackets [ ] at the end of each question or part question.
[20 marks]

38. Sarah wanted to investigate the effect of pollutant Y on the survival of Water Plant Z
using all the materials provided in the table below. )

« 1 dropper

« 10 similar Water Plants Z

« 2 identical beakers

« 1 boitle containing pollutant Y

« 1 container containing 600 ml of pond water

The procedures in the table below are the steps that Sarah should take to carry out her
experiment. However, the steps are not in order.

(a) in the table below, arrange the sieps in the comect sequence so that Sarah could
conduct her experiment properly. Write the numbers in the boxes provided in the
table below. (The first step has been done foryou) 2]

Procedure

Place beakers in a sunny area for 1 week.

Observe the number of Water PlankZ ihat remained alive af{er one
week,

Pour 300 ml of pond water from the container into each beaker.

Put 5 Water Plants Z into each beaker.

Using the dropper, drop a few drops of poflutant Y into one of the
beakers.

(Go onto the next page)






Sarah was then given the graph as shown below.

No. of water planis

The graph shows the number of water plants in a river after contaminated water was
discharged by a factory in the month of April.
+he
{9)] Explain how did the decrease in number of water plants in the river affect the
marine fife? A ‘ (]

(Go on to the next page)



39. Sumei was playing with some ring magnels as shown below. She found out that some of the

magnets floated’ inthe air.

South Pole of Magnet A

Magnet B

top of Magnet Ais South Pale, state the pole of X, of the magnet as

(a) |f the pole of the
¥4

shown in the diagram above.

X

2
Y
P

b) Explain why the magnets were able {o “float” in the air. 1]

Sumei then measured the distance between Magnet A and Magnet B. It was 2cm apart as

shown in the diagram below.

1%

(Go on to the next page)



Next, Sumei added Magnet G on top of Magnet A and realised that Magnet C was atiracted to
Magnet A. She then measured the distance between Magnet A and Magnet B again as
shown in the diagram below. .

distance =Y cm {

{c) What is the distance bstween Magnet A and Magnet B?
Put a tick ( v/ ) in the correct box below. [4]

2cm

¢
!l

Less than 2 ¢m

More than 2 cm

&2

{d) Give a reason for your answer in {b), [1]

1%

(Go on to the next page)



40.

Raju has 2 solid metal cubes of the same size. However, the mass of the metal CubeXis
200g and the mass of metal Gube Y is 240g as shown in the diagram below.

Cube X Cube Y
200g 240g

When Raju lowered Cube X into a measuring cylinder filled with 100cm? of water, the water
level rose o 130c¢m® as shown in the diagram below.

measuring eylinder

(a) What is the volume of Cube X? 11

Raju then removed Cube X and lowered CubeY into the water.

(b)  Assuming that there was no water loss during the procedure, what would the water
level.in the measuring cylinder be? {1

)

Y8 - Explain your answer in (b). [1]

(Go on to the next page)



41.

Bala, Charlie and Deyu were having an argument about what happens to mass when maiter
changes from one state to another. They placed 5 ice cubes in a sealed bag. They recorded
the mass of ice in the bag at the beginning of the experiment as shown in the diagrams

- sealed bag with

below.
15 mins later >

digital weighing
scale

—- sealed bag with

ice cubes waler

r

At the beginning of the At the end of
experiment experiment

Each of them made these predictions:

Baia: The mass of the bag containing water wilf be the same as the mass of the
' bag containing ice cubes. A change in state will not affect its mass.

Charlie: The mass of the bag containing water will be less than the mass of the
bag containing ice cubes. A change in state will result in a decrease in its
mass.

Deyu: The mass of the bag containing water will be more than the mass of the

bag containing ice cubes. A change in state will result in an increase in
mass.

(a) Who made the cotrect prediction? [11

{b) Mrs Lee, their ieacher, told them that they need to ensure-the outer part of the

sealed bag is dry before recording the mass of the bag of water. Do you agree with
her? (i1

(c) Explain the reason for your answer in (b). Mm

3

(Go on to the next page)



42.  Darren set up an experiment to find out more about materials X and Y. The two set-ups

below are identical except for the material of the beakers and the amount of water in the

beakers.

{ 4 cover —§> }

- thermometers 3
heaker made gt | | ppbiniiy - beaker made
of material X P water ——— =T of material Y

He recorded the results of his experiment as shown in the tabie below:

Temperature of (i
Beaker made of =% Beaker made of

- Material Material Y
o 80
5 . 75 65
10 | 60 35

(@) Based on Damren’s experiment, what was he trying to find out about Material X

and Y? i1l
{b) Explain why his experiment is not a fair test. [1]
{c) If Daren had made his experiment a fair one, what can you conclude about
Material X as compared fo Y based on his resufts? M
3

(Ga on to the next page)




43.  Siti was asked to set up an experiment to show the changes of state in the water cycle,
using the following apparatus:

______________________ a glass beaker of
boiling water

S

petri dish

bunssn burner
with stand

{8)  Inthe box provided below, draw and label clearly a possible experimental set-up
to show the changes of state in the water cycle using all the apparatus provided
above. : [134]

(b)  Describe clearly the process how watér changes its states during the water cycle.
[1%]

(Go on to the next page)
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44. Kim Song set up the following experiment with 150em® of three different liquids.

light sensor

chocolate mitk olive oil water

He used light sensors to measure the amount of light that passed through each beaker
of liquid and recorded the data in the table below.

[

g

| Type of liquid %ﬁi‘ommwé Ol

ihténsity of light {unit) 50

(a) Which of the following would be the aim of the experiment?
Put a tick{ ¥ } in the correct box. 1

() | Totestif the volume of a liquid affects the amount of light that
can pass through.

(i} | Totestif the type of liquid affects the amount of light that can
pass through

{iii} | To test if the state of the liquid affects the amount of light can
pass through.

N\

(Go on to the next page)




(b)

11

Based on the data coliected, complete the graph by drawing three bars to

represent the resufts. I1]
Intensily of light
{unit)
A
2005
100~
‘B ._ 3 E 3 ; a1 YPE OF liguid
e water chocolate milk  olive oil
1

End of Booklet B2






EXAM PAPER 2014
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PRIMARY : P5
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Q[Q[Q3 | Q4 [s[qe ] Q7 [8[qs [Qio[Qi1]Qr2[ Q13 [014]Qi5] Q16 | Q17

Q18]Q19] Q20 | Q21 Q2] Q23 [ Q24 Q25026 [ Q27 | Q28 [Q29 [ Q30

31)a)24 days.
b)Larva.
c)Adult. Its bite can cause fatal ilinesses.

32)a)Three pairs of legs.

b)It has a hard covering, more than 3 main body parts and has 2 pairs of
legs in each segment.

P iiM

33)a)The more wateris given, the more leaves the plants will grow as they
need water to carry out photosynthesis.

b)D.

c)it has more leaves to capture more light energy to carry out
photosynthesis.

34)a)The leaves were unable to make food as water was transported to part X.
b)The stem.




35)a)Three.
b)i)Xena is Diane’s niece.
ii)They are siblings.

36))) Qi)Y X i)Y
37) e - N

Bala's matama?
grandmaother O—-D grandfather

Kay

Ofamle
. Elffzij

38)a)4,5,1, 2,3

b)The decrease in water plants will reduce the amount of OXyG: -t produced
by them. The marine life will eventually die because they cannot s::vive when
all the oxygen has been used up.

39)a)X: South
b)The like poles of the magnet are facing each other so they reqnel.
c)Less than 2 cm
d)Magnet C has mass, so its mass pushes Magnet A down resutting in a
decrease of distance.

40)a)30 cms

b)130 cmsz

c)Although they both have different mass, they have the same size and
shape.

41)a)Bala.

b)Yes.

¢)The water droplets that formed on the outer part of the bag will add mass
to the bag.

42)a)To find out the heat conductity of Material X and Y.

b)The water in each beaker is different.

¢)Material X is able to keep water hot for a longer period of time compared
to Material Y.



43)a)

b)Water evaporates into water vapour rises and comes into contact with
the cooler surface of the hase of the Petri dish. It loses heat and condenses
into water droplets. The water droplets will drip back into the beaker again.

44)a)ii)
b)

Intensity of light
1. (unit)y . . et e

A

Y

N
N

|

: e TYDE of liquid

water  chocolate milk  ofive ol /

.

AN
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